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QUESTION 1

You are managing a HCP solution in a Windows Active Directory environment. You are trying to add and configure a
HCP user account but your access rights do not allow you to perform this function. What should your login account have
to solve this problem?

A. the service role

B. the administrator role

C. the security role

D. the Active Directory administrator role

Correct Answer: C

QUESTION 2

A customer has a HCP that is becoming full. They wrote data with a four week retention period and have not written any
data in the last six months. They want to enable the disposition service. What will happen?

A. Disposition would delete every object in the default namespace.

B. Disposition would delete every object.

C. Disposition would not delete any object.

D. Disposition would duplicate every object in the default namespace.

Correct Answer: B

QUESTION 3
A 4-Node HCP with 40 users is being managed using the single administrator function. Two new

users, each from a different department, need to access data in two HCP tenants named: Financials Payable and
Financials Receivable. Which action should the administrator perform to make this happen?

A. Create two new user accounts with security permissions.

B. Create default accounts named Financials Payable and Financials Receivable for each user.
C. Create a data access account for each user.

D. Create two system administration accounts.

Correct Answer: C

QUESTION 4
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A customer has recently purchased a HCP 500. You will be performing the install. Which two describe how many LUNs
per node are required for installation? (Choose two.)

A.10S LUN
B. 4 OS LUNs
C. 2 data LUNs
D. 4 data LUNs

Correct Answer: AC

QUESTION 5

A customer asks you to deploy a HCP. They want to have three HCP tenants for three Active Directory organization
units and two HCP tenants for two UNIX groups. They plan to use Active Directory authentication for CIFS users and
UNIX authentication for NFS users. What do you tell the customer?

A. You can configure CIFS and NFS in accordance to the plan.

B. CIFS and NFS cannot be configured for tenants.

C. You can configure for either CIFS or NFS, but not both.

D. RADIUS servers are required before you can configure CIFS and NFS in accordance to the plan.

Correct Answer: B
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